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1 DOOoOoDoOoOoDog

000000000000000 p,q,.. 0@MO0 (and)d0 000 (or)d0 000 (imp)d0 D00 (not)00 0000000
000000000000000000000300000000000000000000000000000000MA D
0 BOOOOOOOOODO0O0O000200000000000(000000000000000200@M00000 10000
00)300000000000000000000M(AOD B)0O CO00000000000

0000000000000000Caml 00000000000000000000000000 formula000000000
a )

type formula =
| Atom of string (*x O Atom("p"), Atom("ql23") )
| Not of formula (x O Not (f1) *)
| And of formula % formula (x O And(f1l, f2) * )
| Or of formula *x formula (x O Or(fl, f2) *)
I
- %

O0O00OAtom("p") 00DO0UDOOO0OUOD pO0O0OOOOOOOONGt, And,Or000000000C0OOOOOUOOOOO
00000000 Imp (0D00)00000D000O0O0ODOODOOODO
do000ooooooooformuladOOOOOO

let f0 = Atom("p") ;;
let f1 = And(Not (Atom("p")),Or (Atom("g"),Atom("p"))) ;;
let f2 = Not (And (Not (Atom("p")),Or (Atom("g"),Atom("p")))) ;;

0000000000000 00000000000000000D0000000D0O00000-pV(gAp) OODDODOOODO
gobOooooooobooboooooooboobooooooboOooboobooOoOoooOoOboOoOobOOoOobOoOoOooObOOoboOoOoobboOooDn
0000000000000 0oOOo0O0o0ooOooUofo,f1, 20000 formulad0 00000000
000000000000 00000000000000000ocamllex, ocamlyacc 0000000000000 00O00OO
gobooooooooooobooooooobooooboooobooooobooooboboooobooooooooOoboOoooooboboOooDn
00D0000ocamllex, ocamlyacc 00000 300000000 S8000000O0O0OOOO

1.1 OO0O0OO0OD0OObDOoobogoo
0000000000000 000D0O000 (D00?p’0D0)000000000D000 get_,atomJOO0DODOOODOOOO

get_atom (And(Not(Atom("p")),0r(Atom("q"),Atom("p")))) = ["p"; "q"]



oooooooooooooooo
0000ooooooooopd200000000000000000 10000000000 0ODOODOOODOOOODOO0O
000000000 (0000000000000 000OD)D00DO0000000O0000D00DO0OD0D0DODO0OO0OO20
0000000o0o0ooooood=00000ooO
o0ob01-1 0000000 get_,atomJOOOOO
O. get_atom (And(Not(Atom("p")),0r(Atom("q"),Atom("p")))) = ["p"; "q"]
0. get_atom (And(Atom("r"),And(Atom("q"),Not(Atom("p"))))) = ["p"; "q"; "r"]
dooooooooooooooOooUoooooooOOoUUooooooOoooOOUlOoooooooI gt "p"l ODDOCODOO
pgodbdddddddoooooooooooobobon
O00: 000000000000 0000ooo0o0000oo0oo0000oDooO000d0OList.mem00000000C0O
000000 ddList.mem "p" ["q"; "p"; "r"] =true 0000 List.mem "s" ["q"; "p"; "r"] =false 0000
4 N
(x OO0O0O union
gooopbooboooboobooooboooobobooboooDbOooooooobOoOD=)
let rec union lstl 1lst2 =
match 1lstl with

| [1] — 1st2
| h::t — ... (x OO0 List.mem OO0 x)

(x 00 get_atom
formula OO0O0OO0O0O0O0DOOO0COOOODOOODOOOOOOOOOO
gooooogoooooboo)ooo =)
let rec get_atom (forml : formula) : string list =
match forml with
(x 000 wunion OOO x)

rr

- J

12 O0O0OO0OODOODOO

000000000000 0D00000 (assignment) 0000000000000 0O0OCO0OOOD)000010 10000
000000 trueD false 000000000 0D00O0ODO0ODOO0OOOOD (DO0)00trued 00 false0 200000000
gooooon

ooooog 1 [(p", true); ("q", false)l]
oooogg 2 [(M"p", true); ("q", true); ("r", false)l

0000000000000 000D0MO0O0OD o1000O0O0UO0ODOC pOCOOO0DOOOO0ODOODOOOOList.assocdOO
gbobobobooooobooboboboo



let _ = List.assoc "p" [("p", true); ("g", false)] ;;

— : bool = true

let _ = List.assoc "gq" [("p", true); ("g", false)] ;;
— : bool = false

let _ = List.assoc "r" [("p", true); ("g", false)] ;;

Exception: Not_found. OOOOO

\ J
0000[(001,01);(002,02);..;(00n 0n)]00000000000000 (association list) 0000000
000000E00O00D0000000@MO00000000000000000000000 0O List.assoc (OCaml O List O
00000 assoc00)00000000000000000000000000000000000000000000000
0o0O0000(@Ooooooa)
000000000000000000 (000)000000000 beolD00 (000)00000000000000

1.3 DOD0OO0O0ODOO

000000000000 0000000000000 (evaluator) 00000 0eval000DO0O0DOODOO

000000000000 00D000000000000000000D true/false 00000000000 OOOODOOOO
000000000000 000D000O0D0O0O0OD (true/false) 00000000 0eval 00000 DOOODOODOODOO
pooddoooooooo

O 1. eval (And(Not(Atom("p")),0r(Atom("q"),Atom("p")))) [("p",true);("q",false)] = false

O 2. eval (And(Not(Atom("p")),0r(Atom("q"),Atom("p")))) [("p",false);("q",true)] = true
0000 1-2000000000000 evalOOO0ODOOeval O formula -> (string * bool) list -> bool OO OO
000000000 (DD0020000000000000)

goooooboooooboooooooob bbb oo bbb oDoOoOoOo
ooooo

0 3. eval (And(Not(Atom("p")),0r (Atom("q"),Atom("p")))) [("p", true)] (OO 0O)

O 4. eval (And(Not(Atom("p")),0r(Atom("q"),Atom("p")))) [("p", false); ("q", true); ("r", true)]l=true
e I

let rec eval (forml : formula) (asgn : (string * bool) list) : bool =

match forml with

| Atom(s) — List.assoc s asgn (x List.assoc OOODOOO =x)
| Not (form2) — ...

- %
oboboO0O 1300000 evalOOOOOOOOODOOOODOOOODOOOOODOOO

00000000 O0And(Not(Atom("p")),0r(Atom("q") ,Atom("p"))) D000 O0DODOOO0OOOOOOOOOOOOOODO
goooocooo

p q target
ttf
ftt

*10000000000000000000000000000000000000000000000000000000000000000000000
gooooooooOOO0O00O00000000000000O0O000000000O0O0O0O00000000



t ff
fff

0000 100000000000 Otarget formula (0000000000000 D)0000000O00O0OOOOOOOOOO
000 target 000 0000000000000 0DO0OO0O0ODOOOODOOOODOOOOODOOOOODOOOON "target”O
000000)00000000 10000000000000000002000000000000000000O0O0000OO
gogbooobooboobbooboobooobooboobbooboobbooboobboob

pPpp qqqqq target
ttf

ftt
t ff
f£ff

00000 20000000000000000020000 (p,q)=(true,true) 00 00000000D0OO0OODO false DO
000000 30000 (p,gq)=(false,true) 00 0000000000000 DO true0000000O0O0ODOO
U00: 00000000 atoms OO0 O00O0OO0O0OOODOODOODOOOOODOODOODODOOOOOODODODODODOOO
gobogpoooobgo
e I
(¥ make_asgn_1list
00o0000o00o0o0ooo0o0oo0o0oo0ooooooooooooooo
o000000000000O0walk OOOOOOOOOOOOOOOO
*)

let rec walk atoms asgn =

match atoms with
| [1 — [asgn]
| h::t — (walk t ((h,true)::asgn)) @ (walk t ((h,false)::asgn))

(¥ make_asign_list OO )
let make_asgn_list (atoms : string list) : ((string * bool) list) list =
walk atoms []

rr

(*x make_asgn_list OO0OO x)

let _ = make_asgn_1list ["p"; "g"]1;;

— : (string * bool) list list =

[[("g", true); ("p", true)]l; [("g", false); ("p", true)];
[("g", true); ("p", false)]; [("q", false); ("p", false)]]

(+* OOooooo (p,q)=(true, true), (true,false), (false, true), (false,false)
do00o00obOoDoooDOooDooooOooodsx)

\ %

00 make_asgn_list 0000000000000 OO1I000C0C00000000IO0OO fOoODDODODOOOOOOOO
oooooo0o0O0 fO000O0OO000O00O00OO00O0O0O00O0O0O000000Oprint_string O print_newlineOOODO
gogd




a )

let test s =
print_string "Start printing ...."; print_newline ();
print_string s; print_newline ();
print_string "End printing ...."; print_newline ();

rr

let _ = test (string_of_int 135) ;;

\ J

O000O000: OCaml 00 Oprint_string0 0000000000000 0O0O0CO0OO0O00O0OO0OO0O0O0ODOOOOOOOO
0000 OU000000O000002000000000000000000;(00000100D)0000000O0O0OOOO
00000000 o0o00ooo0gooooooooo0o000ddObegin ... end 000O0ODOO

O00000 test 0OOUOOprint_stringd print_newline 0O DOODOOOOOOODO print_endline0O0O0OODOONO
0000000000000 ooooooooooooooooo
oooo 1-4

00000000 (formula00000)0000000000OD0O0O0OO0OOODODODO is_validO0OOOOODOOOO
oooooooooooooooOoobOOoooO0ooOoOoO0oOoO0ObOObOOobOOOOO000 12000000000 1300000
make_asgn_list 000000000 (0OOD 1-3000000000000000000OO0OOUOOODOOUOOO)

is_valid 000 formula -> bool OO0

O 1. is_valid (Or(Atom("p"),Not(Atom("p")))) = true

0 2. is_valid (Or(Atom("p"),Not(Atom("q")))) = false

2 0O00DOO0

gooboooobooooobooooboboobboobboobboobLboobboobboobDboo0obboobboob o
gogd

0000000000 200000000 (Negation Normal Form, NNF) 0000000 (Conjunctive Normal Form, CNF)
gogo

21 NNFOOOO

NNFOOOOOOO-0000000000000000000000000000000000000000-(4A(BVC))
ONNFOODOODOODODOOOO (~A)V((-B)A(=-C))0000000NNFOOOODOOO0000000((-B)A(=C))V(-A)
0000000 NNFOOOOOOOOOODO0O0O00000000

NNFOOODOOODOOODOODOOOOO000Do

~(-4)0 A 0000000
~(AAB)O (mA)V(-B) 0000000
~(AVB)O (mA)A(-B) 0000000

gooooOoOoOoOoO0oO0OO000O0O00U0U-00LO0U0UL0UUOUUOUOUOOOO NNFOODDODOOO
0000 2-10000000000000000000000 (NNF)OOODOOOO to_nnf 0000000 DOODOOOOO
000 formula -> formula OOOO

000: 0000000000000 0UDO0D0O0D0OD (DODODDO0O0OO0O0O0)00DD0OD0O0ODDODOOLODODOODOO
gooboboboooooooboobo 2000000 bOO0obO0obOobOoOoODOoDOoDOobDOoDbOoD



a I

let rec to_nnf (forml : formula) : formula =

match forml with

| Atom(_) — forml (x OO0O NNF OOOOCODODOODO =)

| Not (Atom(_)) — forml (+ OO0 NNF OOODOODOO x)

| Not (Not (form2)) — to_nnf form2

| Not (And(form2, form3)) — Or (to_nnf (Not (form2)), to_nnf (Not (form3)))
| Not (Or (form2, form3)) —

| And(form2, form3) — And(to_nnf form2, to_nnf form3)

(+*0 0000000000000 And OOO %)
| Or (form2, form3) — ... (x00000000000D000 or OOO x)

\_ J
OO0000000ONot(Not(form2)) 00D DO0Oform20 000000000000 00O00OO0DOOO0OOOto_nnf form2
0000000000000 00000000000 form20000000 -~0000000OOONNFOOOOOOOOODO
0000ooo0ooooooooooooooooo
000000 Mot (And(form2,form3)) 00000000000 MM OO Mr(to_nnf (Not(form2)), to_nnf (Not(form3)))
000000000000 00O00oUOOooOUOor(Not(to_nnf(form2)), Not(to_nnf(form3))) 0O D OOIDOOODOO
00(0000000O0000oDO0ooooooon)

22 CNFOOOO

CNF OO
(LAVIAV- - YANLEVILEV--)A---

gobooooooooooocoobobooooon L{DDDDDDD (p,q00)0D0O0DOOOODOODOODOODO (—p, ~¢qO
0)0000000000000And (0DD)0D00D0OO0O0ODOOODO0ODOO Or(000)00D0OD0OO0O0OO Not(DODOO)ODO
goboooooooooooobodoobooooooocooooooooOooonon

OO0 CNFOOOODOOODOODODOOODOOODOOOD (D0D0OO0O00O00OD000O000000D00D00O0O0O0OOCNEO
000000000000)000000000000000D0000D0DMOU0O0ODOO0D00DODO000DOODODODOOOOOO
000000000000 000O0000000D (DLU0DD0O0O0OO0)0D0000ODO0O0D0O0OO0U0ODOODODODDOODOODOO
oooo

OOOCNFOOOOOUOOODOOCNF O DO0OD0OO0O0O0000O0O0formula0000000000000OO0O0OO 200
Ooooooo0o0 enf0000OO0O0OOOOOO

e formula000 Or0 And0 200000000000CNFOOOOOOOOOOO OrO AndO0OOOOOOOOO
0000000000 Or(Atom("p"),0r(Atom("q"),0r (Not (Atom("p")) ,Not(Atom("q"))))) 0O OOOOOOOO
goboooooogo

e formula0 0000000 CNFOOOOOOOODMCNFOOOODOOOOOODODOOOOOODOOOOOOOOOOD
O0D0D0DO0O(CNFOOOODODOOOODODOOOODODOOOODOOoOoooooo)o

CNFOODOOOOOODoOooooooood Lg[l[l[ll:ll:ll:ll:ll] (00D00DO0U0O00O0O0DO0O0DDOUODOODOODODOOD)
goooooogd



type literal =
| Pos of string (* 0 Atom("p") ODO0ODOODODOODOO Pos("p") OOO *)
| Neg of string (* 0 Not (Atom("p"))OODOOODOODOOO Neg("p") OO0Ox)

O0OOCNFOODOOOODODDOOODODO Or000000000O0000 AndOOODODOOODOOODOOOODOOOOrOD
And000 OO0 A10000OODOUOOOO (DOOD0ODODO ODOUD ADODDOOUOOOO)ODO0ODOODOOOOO

type clause =
| O of literal list ;;
type cnf =

| A of clause list ;;

00000 formulaO0O And(0r(X,0r(Y,Z)),0r(V,W)) 0000 0O0enfO000OACOCIX; Y; Z]); OCLV; W1)1) OOO
0000000000000 D0((@oO0O0O0O0O00O00D0DD [X; v; 2]; [Vv; W] OOOODODOOOOOOOOODOOOOO
000D0000000000000000000000000000000000000 ADOD OOO000OOO0O000)
0000 2-200000NNFOODOOOODODOODOODOO (Conjunctive Normal Form, CNF)OOOOOODO to_cnf OO
oooooog

00000000000000NNFOOOODODOO (-0000000000)00000000

to_cnf : formula -> cnf
to_cnf (Or(Atom("p") ,Not(Atom("p"))))
==> AC[0([Pos("p");Neg("p")1)1)
to_cnf (And(Atom("p"),0r(Atom("q"),Atom("r"))))
==> A(C[0([Pos("p")]1); 0O([Pos("q"); Pos("r")1)1)
to_cnf (Or(Atom("p"),And(Atom("q"),Atom("r"))))
==> AC[0([Pos("p"); Pos("q")]); O([Pos("p"); Pos("r")1)1)

gob: 0000 te_enf 00000 O0OO0OO0ODOOO



-~

let rec to_cnf (f : formula) : cnf =
match f with
| Atom(p) — A[O[Pos(p)]]
| Not (Atom(p)) — A[O[Neg(p)]]
| And(fl,£f2) —
let cnfl = to_cnf fl in
let cnf2 = to_cnf f2 in
(* cnfl O cnf2 0 And O0O0O0O0O CNF OOOOO x)
begin
match (cnfl, cnf2) with
| (A(cll), A(cl2)) — A(cll @ cl12)
(«» 000 @ 00000000000 00D0D0D00ODO ocaml OOO
(append) OOOOOO;,

el @ e2 0 List.append el e2 DODOOOOOx)
end

| Or(fl,f2) —
let cnfl = to_cnf f1 in
let cnf2 = to_cnf f2 in
(+» JO0O00O0D0O0ODOOO00OODOO0O x)
(*x cnfl O cnf2 0 or OOO0O0O0O CNF OOOO0O =)
| _ — failwith "This case cannot happen" (x OO0 NNF OO0OO0O0OO0O0O00O00000 %)

- %
enfl 0 enf20 CNFOOOOOODOO Or000000O0CNFOOOOOO(Or000000D000OOODOOODOODO)0ODO
gooboboboooooooboboboboboooooobooobo

e (AAB)O CDO Or000000000 (AVCO)A(BVC)OOOO0DO0ODO
e (AAB)O (CAD)DO Or000000000 (AVC)A(BVC)A(AVD)A(BYD)OODOOOODO
e D0OO(AAA A+ ANAp) O (ByAByA-+-AB,)0 Or0000000000A,<jcpmi<jcn(4:iVB;) 0000000

O00000000OOenflO enf200000000000 CNFOOOOODOOOOOOOOOOODOOOOO

0000 2-3(0000000000000000O00O00O0D0O0O000)CNFOODODOOODODOODODOO is_valid_cnf OO
gooogo

is_valid_cnf (AC[O([Pos("p")1); 0([Pos("q"); Pos("r")1)1))
==> false

is_valid_cnf (A([O([Pos("p");Neg("p")1); O([Neg("r"); Pos("r")1)1))
==> true

gob:000b0000bo0oboobn

1. AC[C1; C2; ...; Cn]) ODDOO CNFOOODOODOOODOCL, C2,...,Cn 0000000 (DDOD0ODODO)0DO0ODOOO
0000000000000 D0OD(D0D Cib0ANdOIOUODOO0UODOOOLDODOOODODOOOODODOOOO)
2.0([L1; L2; ...; Lm]) O0OO0O0O0OOO0OODOOOOOODO 4,000 pO00O000OLi=Pos("p"), Lj=Neg("p") OO

0000000000000 0O00O0(oO0 Li00oOor000D000O0DO00O0ODO0OO0DO0ODOOOODUOOO)
oo z20000000000000000D00D0D0OO

0C[ ...; Pos("p"); ....; Neg("p"); ....1)
ogooo
0C[ ...; Neg("p"); ....; Pos("p"); ....1)



0000000000000 00DO0000DO00 1 0000000000000 000000DO0U0D(DOODoOoOO DO
000o00)oDooooooo

0([Pos("p");Pos("q") ;Neg("p") ;Neg("r")1) ... 00
0([Pos("p");Pos("q");Pos("p");Neg("r")]) ... ooooo
O([Neg("p");Pos("q");Neg("p");Pos("p")]) ... OO

000024 (0000)000000D0O0O0O0ODOO0OOO NNFODODOOODODOO CNFOOOODOODOOOOODOOODO

3 0ogno
000000000000000000000000000000 10000000000000000

e 1000 CNFOOOOOODOODOOO: formula0 0000000000
Not (And (Not (Atom("p")),0r(Atom("q") ,Atom("p")))) 00000000 ODO0ODOOOOODOOOOODOOOOOOO
formula0000C0O0O!C 'p /\ (g \/ p)) OOODOOOOOOOOOO0OO0OO0OO0OO0OO0OOOOOOOOOODODOODODO
J0000D0ODO0O0O0O0000 pretty-printer 0000

pretty_print (Not (And(Not (Atom("p")),Or (Atom("g"),Atom("p")))))
==> "l (!p /\ (g \/ p)"

000000oooooooo0oo000oooooooooo0ooooooooooD(p /\ @ 000000000000
0000000000000 0O00O00O000O000O00000000(0O0O0DDO0D0O0DOD0OLODOODOOOOOO
O00oOooooooooooo)

e JJUDOODUD: 000D formula00000000O00O0DOOOOODOOO 'p/\ (@ \/ r)OOOODOOOOODO
000000o0U00oo0ooU00oDooUoooUoooD formulad 00000000 OOOOOOODOOOOODOOO
0000000000000 () 0000000000000 0000DDOD00D0000O0O00DDO(2) 000 ocamllex,
ocamlyacc 00 0000000000000 0O0O(3)0000OParser Combinator (parsec) 00 000000000000
ugno

e DNF (0DODOD)D0DO0:

DNFO CNFOOOUO (dua)0D00O00O000DOOO0O0ODOOOOD AndOOOOODOOOOOD OrOOOOOD
goooboooboon

000 CNFOOOOUOOODOOOODOOODOOOOOOOODNFOOOOOODOOOODODOOOOOODOOoOOOooooo
gogboboooboobooobooboobbooboobooobuooboobboo
goooobogobobooooooboooooooooboobobooomoobobobobooooboboobOobobooo
000000000000 00000000000000D 0000000000000 DO0OO0DDOD0DODoOUOODO
000000)000000000000000000000100000000000

o000 CNFOODODODO:
00000ooooCNFOOOOODODODOODODODODOO CNFOOOODODODODODOO0O0Ooooooooooooooood
0000000000000 00000000000o00000000000000D000O000UDODO CNFOOO
0000000000000 000000ooOOoOYesOO0OO0O0O0 Tseitin algorithm 0000000000 OOO0O
00000000000 OCamlODO0O000DD0OO0O0OD0O0OOD (D0DODODO0DDOODDODO0DDOODOOOCNFOOOO)O
gooogo
00: 0000000000000 SATOO (satisfiability 00)0000000000000O0DO0O0OO0DOOOODOOO
gooboboboooogoooobobooooooooboboboooboooomoobooooboboboooo
000000 (000D0)00000000D00000000000000000000000000D0000OOOOo00O
00000000000 00000D00000000000000000000B0000o00000000000nonOQ

2 000000000000000000000000 0000000 100000SMTOOO0O000000000000000000000000000



000000000000 00000000SATOOOOOO0OOOO0O0O0OO SATOOOOOOOSATOOOUOUOOOOO
00000000000 00o0oo00U000000ooo0o SATOOOOODODO0OO0OOOOUOU0OO0OOOODOOUOO0ODODoDODOOO
000000 ”SAT solver” O ”SAT competition”0 0000000000
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